CSCE 145: Test 1 Answers

1. 
2. 1. public R2D2(City city, Direction dir)

2..2 arguments

3. 3 attributes

4.  public void findObiWan(City aCity)

5. R2D2 artoo = new R2D2(MosEisley, Direction.NORTH)

3. 1. foo is an instance of the object.

2. bar is the method the object performs.

4. /**Finds the area given the rectangle’s width and height

*

* @param int width the width of the rectangle

* @param int height the height of the rectangle

**/

5. There are four mistakes

a. The while loop is not in a method.

b. The word static is missing from the public void main.

c. The word Robot is missing from the instance of Marvin.

d. this.turnLeft( ) should be Marvin.turnLeft( ).

6. public Boolean isFacingNorthorSouth( )

{

if (this.direction == NORTH)


{


return(True);


}

if (this.direction == SOUTH)


{


return(True);


}

else


{


return(False);


}

}
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